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A 25.5 6 32 7.5 10.3 7

B 12 5 22.7 6 4 4.5

D=A2-B?

E=(A-B)2

F=D-E

G=Yn=0F[n]




University Center Abdelhafid
Boussouf -Mila-
Institute of Science and Technology

2023/2024
Computer Science 2

S esgi! Okl

2 ool

Hy yoid| (yad

03 Jgdzll § Bagzgall ldanall Lilaiwlg ¢(C-1D-array) C § slgll dadl O13 Olis24mall Slaiwdl
P dsuadl 14 (3 48yl bl sde J2l oo C G el il

A 255 |6 32 7.5 10.3 7

B 12 5 22.7 6 4 4.5




University Center Abdelhafid
Boussouf -Mila-
Institute of Science and Technology

Computer Science 2

Al a8l Hata) asaal

1 & goin all

2023/2024

Program

Output

#include <stdio.h>
#include <math.h>

int main() {

float A[7]={25.5,6,32,7.5,10.3,7,2};

float B[7]={12,5,22.7,6,4,4.5,1};

float G=0, D[7], E[7], F[7];

int i,j,n;

for(i=0;i<7;i++)

{
D[i]=pow(Al[i],2)-pow(B[i],2);
E[i]=pow((A[i]-B[i]).2);
F[i]=D[i]-E[l;

for(j=0;j<7;j++)
printf("D[%d]=%#\t",j,D[j]);

}

printf("\n");

for(j=0;j<7;j++)

{
printf("E[%d]=%\t",j,E[]]);

grintf("\n");

for(j=0j<7;j++)
{printf("F[%d]z%f\t",j,F[i]);
%or(n:O;n<7;n++)

{ G=G+F[n];

}
printf("\nG=%f",G);

return O;

¥

D[0]=506.250000

E[0]=182.250000

F[0]=324.000000

D[1]=11.000000

D[2]=508.709961
D[3]=20.250000
D[4]=90.090004
D[5]=28.750000  D[6]=3.000000

E[1]=1.000000

E[2]=86.489983  E[3]=2.250000
E[4]=39.690002  E[5]=6.250000
E[6]=1.000000

F[1]=10.000000

F[2]=422.219971
F[3]=18.000000
F[4]=50.400002
F[5]=22.500000  F[6]=2.000000

G=849.119995
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#include <stdio.h>
#include <math.h>

int main() {

float A[7]={25.5,6,32,7.5,10.3,7,2};
float B[7]={12,5,22.7,6,4,4.5,1};
float G=0, D[7], E[7], F[7];

intij,n;

for(i=0;i<7;i++)

D[i]=sqrt(pow(A[i],2)-pow(B[i],2));

E[I=Ali]-BIi];
Flil=pow((D[i]-E[i]),2)/7;
}
for(j=0;j<7;j++)
{
printf("D[%d]=%f\t",j,D[j]);

}

printf("\n");
for(j=0;j<7;j++)
{

printf("E[%d]=%M\t" j,E[]]);

}

printf("\n");
for(j=0;j<7;j++)
{

printf("F[%d]=%f\t" j,F[j]);
for(n=0;n<7;n++)
{
G=G+F[n];
}
printf("\nG=%f",G);

return O;

}

D[0]=22.500000  D[1]=3.316625
D[2]=22.554600  D[3]=4.500000
D[4]=9.491575 D[5]=5.361903
D[6]=1.732051

E[0]=13.500000  E[1]=1.000000
E[2]=9.299999 E[3]=1.500000
E[4]=6.300000 E[5]=2.500000
E[6]=1.000000

F[0]=11.571428  F[1]=0.766679
F[2]=25.097776  F[3]=1.285714
F[4]=1.455164 F[5]=1.170070
F[6]=0.076557

G=41.423389




